> A
A & 0l & AF 2 E A A
2016 & =20l LBHSIH  IIEFSESEIH, 301 SE3H &M
SH: BHAMD
Ha: BYSEO|G E
ool BERAE U R EERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
B 2 M 21,434,261 14,337,092 7,097,169
= 1,060,547
Xl 6,143,000
J| 3,015,900
< 553,510
s 10,661,304
BEASBHIIL 25 708,318 381,948 326,370
= 54,000
< 4,200
s 650,118
SEEN L LAY 374,758 381,948 AT7,190
= 54,000
< 4,200
[ia 316,558
sl PAC o= = 54,777 80,617 225,840
101 @124l 10,811 36,651 225,840
04 JI2ZtHZ22HEE = 10,811 36,651 A 25,840
OZMERESEN MEds A2 10,811
- =20 54,600& = 1€ = 180¢ 9,828
- AZEE JI2RES 9,828,000& = 10% 983
201 £B-2dH| 43,966 43,966 0
01 At 22/l 17,466 17,466 0
OFMEREES =A== 2XMH M=
90,000& * 3% A 270
OgZNMeREg=s 823 MA 3,400
- 50,000& = 100H = 23l 1,000
-2 M& 3,000& = 800 2,400
OBANEES DN o4
25,00021 = 100& = 43| 10,000
OBAMHLLZ HMHH 248
10,0002 = 80& = 43l 3,200
OeHY XNzs=2 50 * 1,000 = 43] 200
OXsS0lH MHEsrd =25
33,0008 * 123 396
02 =24l 26,500 26,500 0
O8ZMERES DIAM REESE 26,500
- FRSAA 1,900& * 300 570
-0 XA 25,930
2 Bt 300& * 20,0004 = 43| 24,000
=Pl 1,930& = 5004 * 23| 1,930
NHES &8s 23,400 24,620 21,220
201 LBt | 5,800 5,800 0
01 At 22/l 5,800 5,800 0
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A2 M
BASHIG DS
BERHE U ALY CER-ED
= - 4 14
SN EE B (BH) - HRAY - BES e Hl D= 2t
207 A& H| 30,000 0 30,000
01 284 30,000 0 30,000
OSEX(Z4X) U2 =242 <& 2294l
30,000,000& 30,000
401 Al HI L =2 Tl 18,000 0 18,000
01 A& Hl 18,000 0 18,000
O=Y MHISA MHEHY doiTiol S7AS
18,000, 000& 18,000
ES=MHRNALH HBAY 50,000 50,000 0
306 23 50,000 50,000 0
01 &= 50,000 50,000 0
OLERX MEH2J =4 EBIEd =AM 89 &
ST AMIA 50,000, 000& 50,000
HE A =T 20,816 23,816 A3,000
201 et 13,816 13,816 0
01 At 22l 11,500 11,500 0
OJI=ds 2d 228 WM& 11,500
- =9 M= 50,000& = 100HZ = 53 2,500
- 2= MH 3,000& = 3,0000H 9,000
02 =224l 2,316 2,316 0
OEHAZQEN RBESR
1,930& = 6004 * 23| 2,316
303 Z& = 1,000 1,000 0
01 Z& 3 1,000 1,000 0
O=MHNE 70 2= A Al 1,000
- 3R 500,000& * 12 A 500
- = 300,000& * 12 M 300
- & 200,000& » 12 A 200
307 RI2H0| & 6,000 9,000 3,000
02 B AAHEX 6,000 9,000 A 3,000
O0tJt= Jl=¢gs dna 2949
6,000,000 6,000
Sa0lg MsAHU XA 21,000 54,600 A 33,600
= 15,000
< 3,000
[ 3,000
402 RI2EXt20l ™ 21,000 54,600 A 33,600
= 15,000
< 3,000
e 3,000
01 A TtEAEEX 21,000 54,600 233,600
OsAJ1g Uoletd & A 21,000,000& 21,000
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SN BEAMD
HE: #FREIIG 2
ool BEEA U HAAY (el @2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 15,000
& 3,000
= 3,000
EEAIOIEM FANE2H 32,000 30,000 2,000
= 16,000
= 16,000
301 LBt A= 32,000 30,000 2,000
= 16,000
= 16,000
11 JIEtE A2 32,000 30,000 2,000
OEtATZOIERN QIAEE 32,000,000 32,000
= 16,000
= 16,000
MO M O 6,000 6,000 0
& 1,200
= 4,800
301 et A= 6,000 6,000 0
& 1,200
= 4,800
01 Al B & A 462 6,000 6,000 0
O&ddIol M 202 6,000,000 6,000
= 1,200
= 4,800
JIEHSHS MY (A AEIEHE/ IS LESAIY) 14,000 16,000 A 2,000
= 7,000
= 7,000
307 2I2t0| ™ 14,000 16,000 A 2,000
= 7,000
= 7,000
02 IZHBAAIE E X 14,000 16,000 A 2,000
OO AEEHERZA 43 MY
14,000,000& 14,000
= 7,000
= 7,000
ANASHE AN 6,400 6,400 0
307 QI2t0| ™ 6,400 6,400 0
02 QI2tAAMAIE E =X 6,400 6,400 0
ONHSAEBEAMI(NHAESE2F)
6,400,000 6,400
MIOIKSA 23 L SHAE 25 51,000 0 51,000
= 16,000
= 35,000
405 XHoHFE S HI 51,000 0 51,000
= 16,000
= 35,000
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SN BPAYD
Ha: BYSEO|G E
Sol: BYPH U HAAY

5 - 4
SN BA(SA) - MRAY - BES 0l &t o e 2
01 AL EFHSE 51,000 0 51,000
O&II XS & = 51,000,000& 51,000
= 16,000
[ia 35,000
AAEHT S#IEA LN AASHTSESIA) 333,560 0 333,560
SHH=XMCZI AL 333,560 0 333,560
207 A O] 102,000 0 102,000
01 289 102,000 0 102,000
Olla H=3SZXMAIE Jl=HE ga3sel A
2 =g 89 22,000,000& 22,000
OUER 25 HXHE 2 B
3, otOl& 80,000, 000& 80,000
401 Al HIZ 201 Y] 231,560 0 231,560
01 A& HI 231,560 0 231,560
OBlOol & A H S X delAlE 2HF D=
& e 23,000,000& 23,000
OYsAHEX ANE HE A 187,000
- HEX AL 40,000,000& 40,000
“HES2HM2AE XS HESAM
12,000, 000& 12,000
“HasXE 22 15,000, 000& 15,000
-REXFX = Ol 0fctel Z XIS A
120,000, 000& 120,000
OSSR AlE HEAY 21,560
-HEAHI0l O 12,510,000& 12,510
-pvc A SHH 2 5,950,000 5,950
-WS WA 3,100,000& 3,100
& el 13,180 0 13,180
HHEAlE 2el 13,180 0 13,180
HHEAlE DBt = 13,180 0 13,180
201 ¢er24| 4,000 0 4,000
01 At 22l 4,000 0 4,000
OHEAE 2H E22 MA(HH HEAME B
2) 500,000& = 48 * 23| 4,000
202 04l 7,680 0 7,680
01 = LH 4 Hi 7,680 0 7,680
OHiE Al & 2tel Ol 7,680,000 7,680
405 RHoHF S HI 1,500 0 1,500
01 AL ESHS 1,500 0 1,500
Odliold Hels 1,500,000& * 14 1,500
tileg 22 49,370 45,070 4,300
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SN HEAMD
M oy 22
S toEa 2 (&
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
thorsgd 24 49,370 45,070 4,300
B3y & o= 49,370 45,070 4,300
201 2Bt | 22,450 17,750 4,700
01 At 22/l 20,950 16,250 4,700
OgZ2g=2 =Z3ZH =3 M
150,000& * 304 450
O2gH= A O & SALHFAD 24
=l 2,000,000& 2,000
OXNEEs ZRJ 1=l 150,000& * 69 900
OEL2QHTHA ST =8
800,000& * 23 1,600
Ogzzg BEx 2 222 MH
500,000& = 28 * 43| 4,000
OZH&EAMNE NEEZE M
400,000& = 5& 2,000
O+=Z2ZAL] LHES FHAXNZ
1,000,000 * 53| 5,000
O ZA U =2 200,000 * 25¢ 5,000
02 232gHl 1,500 1,500 0
Oostzd2d =3 &4l |XH 100,000& = 504 500
O HIO229 4 KAl 1,000, 000& 1,000
202 oddl 14,680 17,080 A 2,400
01 201 b 14,680 17,080 A2,400
OZXNE H2F& ¢l 14,680, 000& 14,680
206 M= Hl 7,240 7,240 0
1T M= Hl 7,240 7,240 0
OANZEA THFEY 2 2,080
-PES I (4L, HI =) 110,000& * 48 A 440
-PEE DI (2L, ot & 2 100,000& *» 3% A 300
-ZE RS (1L, H=) 90,0003 » 10%A 900
AN H(ILLEY 100,000& * 29A 200
-2 (100ML, 2 F) 240,000 * 1&tA 240
OgZg=d =3&H Mz 7Y 2,100
-0 & AS=E MZ=Hl 200,000 » 38 600
“AFHANZ THF N 300,000& * 5% A 1,500
OxZLIT A 2A0IZSHES 1,060
-+ H AT A AHCOD) pack test
110,000& » 6 A 660
—PHIHI Ol TH 20,0003 = 2004 400
OYHAEY A28 ¢ 2,000,000 2,000
301 et d s 3,000 3,000 0
MIIEEd= 3,000 3,000 0
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SN BF2
HEM: O
& ol 9 &)
= - 4 14
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
QY AR A 30,000& * 100™H 3,000
405 Xt = H| 2,000 0 2,000
01 Xt 237 SHl 2,000 0 2,000
HEE ESHEH P 2,000,000& 2,000
Ot s A= 235 290,562 291,073 AB511
= 20,400
o 39,150
= 231,012
O M = Al =1 290,562 291,073 A511
= 20,400
o= 39,150
= 231,012
oM = gs o 8A 15,660 17,060 A 1,400
201 A Hl 2,000 ,000 A 1,000
01 2l Hl 2,000 ,000 A 1,000
SASHES EES MHZE HIE 2,000
I ESs 50,000& * 200H 1,000
= H& 1,000, 000& 1,000
202 2,160 ,160 0
01 2L I 2,160 ,160 0
MESIOol & X&Q2 oy 2,160,000 2,160
206 900 900 0
01 900 900 0
OlOtMSSAUHASMAI H2H (SE2H0])
300,000 = 33| 900
301 2a3 10,600 ,000 A 400
09 |2 a2 600 ,000 A 400
SNSA 2 LRSS DI 2AA Y|
3,000 * 200 600
11 JIEIE A= 10,000 ,000 0
SS LS NN B
1,000,000 = 524 5,000
S22 FEXESH| 50,000& = 602 3,000
O S = Xl &H| 100,000& = 205 2,000
SoOIMs=E E= 600 ,525 N9,925
201 3| 600 525 75
01 A 2l dl 600 525 75
OS2 Z& SHoHEX HA
3,000& * 200H 600
O =SS0 ol Ol 2 AFS 100,800 ,800 60,000
= 20,400
o 6,120

- 268 -




<

n0

Kio

Hl w

60,000

60,000

AB7,622

NB,267

ANB,267

NT,455
A 15,000
A 15,000

N 43,355
A 35,900

H3r
Wikd
RIS

40,800

40,800

155,188

71,133

71,133

46,055
36,800

9,255
35,000
35,000

12,500

6,500

6,500

6,000

6,000

Off &t 24

74,280
100,800
20,400

i

H

6,120
74,280
100,800
100,800
20,400

i

fir

H

6,120
74,280

87,566

64,866
64,866
43,244
39,312

3,932
21,622
19,656

1,966
2,700
900
900
1,800
1,800
20,000
20,000

20,000
12,500
12,500

H

6,500
6,500
6,500

H

6,500
6,500
6,000
6,000
6,000
6,000
6,000

H

H

H

A=20ld

|

=

=

100,800,000

30
O

-

K0
D

oI H

101

<+

ulo

04 JI2tHI2 2 &t

al
-

ol
[
K4
H

gl

ol

Ll

J
o
(0
il
<+

Qal
=

H * 60

(=)
[l

2 x 12

54,600

10%

2 x

ro
[uji}
I+
£l

3

160
i}
o}

39,312,000

A

%
10%
Cél

[und

2 o+ 30

[und
e

2l 6 * 60
2 =

=
[und

2 » 6% = 60

300,000

o
[ud

19,656,000
sl

b

[ul)

(=]
5,000

54,600

b

Jl22 AHOH ols2

=
=)

01 AtR2t2ltl
©)
11 JIEt

no

-,

H

=
1o

=
go

ol

ok
—=
o

=

-

<J
L

104

A o

o

2,000,000

2|

=

=

6,500,000

4 EH Al 12

04 JIZtNZ22XNSE+

307 21201 &

Ki
iy
&1

<0
il
~J
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=

=
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SH: BHAMD
M OfsAlE MEAH BES
el OtMESAE B (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OrM=2 IOlof 24 33,636 15,400 18,236
< 10,090
s 23,546
301 et a3 33,636 15,400 18,236
< 10,090
s 23,546
1M1IIEESS 33,636 15,400 18,236
OOMsS=0l 28t s&= Hol24
33,636,000 33,636
< 10,090
s 23,546
Oris= Lol & XE XI3AE 34,800 34,800 0
< 10,440
s 24,360
301 L2 A3 34,800 34,800 0
< 10,440
[ia 24,360
1MIIEESS 34,800 34,800 0
OOtM== moigRe XA 34,800, 000& 34,800
< 10,440
e 24,360
=2 B35 2 28 LHa FUAHE A 5,000 4,800 200
307 glz2tol & 5,000 4,800 200
02 It MAHEE 5,000 4,800 200
OMESEES & 98 YA FUHZMZ
5,000,000& 5,000
HOIS 22l 8,884,731 8,594,796 289,935
= 375,700
< 96,560
s 8,412,471
MM Y HIIE NE 22 8,884,731 8,594,796 289,935
= 375,700
< 96,560
s 8,412,471
HEHII=S 2 & 218,400 212,700 5,700
201 Let249] 202,400 196,700 5,700
01 At 224l 202,400 196,700 5,700
oMl RnA=SE M 192,800
31 8 243 * 500,0000H 12,000
50 & 29& = 300,0000H 8,700
-10¢ 8 37& * 200,0000H 7,400
204 8 60& = 500,0000H 30,000
=50, 2 150& = 300,0000H 45,000
-1004 & 250& * 300,0000H 75,000
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SN BHSAMD
M HII=E 2
S MEaMy) ¥ HIIS N 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
238 150& = 70,0000H 10,500
-PPZE Ui (504 &) 420 * 10,0000H 4,200
OUEHIIES AEIH ME 300& = 30,0000H 9,000
oNgEs =H 32 ULl=H|
150,000& * 49 600
206 M= Hl 16,000 16,000 0
01 =8l 16,000 16,000 0
OSASMAI 408 7Y
80,000& * 2000H 2 16,000
SYHEI N 2el 97,610 78,330 19,280
201 LB-2E| 48,930 61,930 A 13,000
01 At 2t 2l 25,600 28,400 A 2,800
OoMdDl 28HEIISA & 2el=H 88 15,000
-8 =0 50,000& * 2000 = 53| 5,000
-EE2 10,000, 000& 10,000
OSYMYDIHE S=SZTH X
500,000& * 103l 5,000
OgXIHIIZ Ml 100,000& * 50& 5,000
OXNEEZ E2& 1=l 150,000& * 49 600
02 2324l 23,330 33,530 210,200
OMgIl 2SIl SEZHI(CCTV) LHUAS
= 100,000& * 5CH = 12& 6,000
OMgIl 2SIl S=FdI(CCTV) I3
5,000& = 33CH = 12& 1,980
OMedl 2SI Sh=Fdl Xl 8,750
24Nt A& B chEFH|(CCTV) 0l Bl
1,500,000& = 5CH 7,500
-A0tEZ D EH(CCTV) Ol &I
250,000& = 504 1,250
oMl 2SI &5FH |X E=Hl
200,000& « 3304 6,600
202 4 Hl 15,680 13,400 2,280
01 = LH Yl 15,680 13,400 2,280
OFAYE HYRFA Al 15,680,000 15,680
301 L2 A= 5,000 3,000 2,000
11IIEEAS 5,000 3,000 2,000
OEYEI Mz iIF 3,000,000& 3,000
OZ32dan XXM &3 2,000,000& 2,000
T AEHIZXEUY 28,000 0 28,000
01 A& HI 28,000 0 28,000
OADEZ DB (CCTV) A X
2,800,000& = 10CH 28,000
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SN HEAMD
M HII=E 2
S MEaMy) ¥ HIIS N 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MWeES A3t 30,164 35,144 A 4,980
201 £B-2d| 13,144 13,144 0
01 At 22l 13,000 13,000 0
OMeEE 820 M= 260,000& * 50 13,000
02 2324l 144 144 0
O2ddteA IS
6,000& * 204 * 128 144
206 M= Hl 4,000 4,000 0
01 M= 4l 4,000 4,000 0
Oomng&s 2cl=AH¢g 400,000 = 1094 4,000
301 et a3z 13,020 18,000 A 4,980
1MIIEELS 13,020 18,000 A 4,980
onMaes =d&d=2
2,170,000& = 128 » 50% 13,020
LAY 29 4,417,340 4,318,574 98,766
207 RO 50,000 20,000 30,000
01 A2 39l 50,000 20,000 30,000
OMBEHIIS +ZSUAT0 U AN =
AR E S 20,000,000& 20,000
OMEBHIIS +E28 Helulg S-S 98
FILEAL 232 EF 30,000, 000& 30,000
307 glz2+ol & 4,367,340 4,298,574 68,766
05 RIZt2IE = 4,367,340 4,298,574 68,766
OFAUEWES 4,367,340,000& 4,367,340
MEHIIE MelAld 22 3,232,817 3,375,348 A 142,531
101 @124l 14,415 13,328 1,087
04 JIZHHZ2Z2XNSE =+ 14,415 13,328 1,087
OHdEA 22Y 14,415
-=0 54,600& * 1 * 240 13,104
-ALRIEE JI2RES 13,104,000& = 10% 1,311
201 ¢er24| 41,562 38,562 3,000
01 At 22/l 25,562 22,562 3,000
OHI|I & HEZE AtZ=2el 10,834
—-Xlot== =ZHA 137,800& » 6004 = 43| 3,308
-EEs =ZZ A 337,0008 * 24 * 43 2,696
SEZHE AAM(E 2 9K &#5)
603,700& * 8 = 13 4,830
O+ HHEHE AZ=2el 7,417
-XIGts =ZZ AL 137,8008 * 3 * 43 1,654
-AE =ZHA 337,0008 * 1HA * 43] 1,348
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SH: BHAMD
Mz HIIS 22
Gl MEMY D L HIIZ2 NE 22 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
-0 & DA A 500,000& * 40 = 18] 2,000
—EUQAT HAHY 2 94 T=2)
603,700& * 40 * 18] 2,415
ONg & oI 2t =& 2HA 4,311
-Xl ot =& A 137,800 * 1A * 23] 276
-EE4 A AF 337,0008 x 1A x 103 3,370
X EL £=H2ATA 332,200 * 10 = 23] 665
OUE HIIINHE 2et2 XNAHX 29 |Adl
3,000,000& 3,000
02 Z2=2=2494| 16,000 16,000 0
OFMHEH SAE2L 22| 10,000,000& 10,000
OFME R dMIR2 500,000 = 12€ 6,000
202 04| 6,840 8,040 A 1,200
01 2Ll 6,840 8,040 A 1,200
OAM(F)HEHE g2 =& 6,840,000 6,840
206 M = dl 5,000 5,000 0
01 X2 b 5,000 5,000 0
OFMHEHE SA E£223 MH=EHl 5,000,000 5,000
207 SO0 | 30,000 0 30,000
01 A 30,000 0 30,000
OFMEE FHEH ST A 249
30,000,000 30,000
308 XX SHHSOIH 3,100,000 3,310,418 A 210,418
07 NIXSHHM2AREESS 2 3,100,000 3,310,418 A 210,418
Od HEgd 24| 3, 100,000,000 3,100,000
405 XHAHFEI S HI 35,000 0 35,000
01 AL 2 EF S| 35,000 0 35,000
OEY HIIEHME 28t XHA R (2.28)
35,000,000 35,000
SZHHY £HEA(QIHMEE) 143,000 143,000 0
= 13,000
= 26,000
= 104,000
301 et A= 143,000 143,000 0
2 13,000
= 26,000
= 104,000
11 JIEtE A= 143,000 143,000 0
SZEMHHY £H24a3 ClHEE
143,000,000 143,000
= 13,000
= 26,000
= 104,000
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AN 23D
za: Hol2 2el
S MEaMy) ¥ HIIS N 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
H=0E el 470,400 403,200 67,200
= 235,200
< 70,560
s 164,640
308 AHXIEHHSOIA 470,400 403,200 67,200
= 235,200
< 70,560
s 164,640
10 B2 S0t B & H A 470,400 403,200 67,200
OHZdY0E Melsl XI&
3,136,000& * 150= 470,400
= 235,200
S 70,560
s 164,640
SEHHY 25 FoE A Y 35,000 21,000 14,000
2 7,500
s 27,500
401 Al HI K 201 I 35,000 21,000 14,000
= 7,500
i 27,500
01 A& HI 35,000 21,000 14,000
OsZHHE 35 dotd ExAY
,000,000& * 54 35,000
= 7,500
s 27,500
S MU AHAX M2 ALY 240,000 0 240,000
= 120,000
s 120,000
405 XtatE SHI 240,000 0 240,000
= 120,000
s 120,000
01 AR ESFH S 240,000 0 240,000
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SN HEAMD
Hu: NEQMT X
o9l ASIEYL AFBE (S5 &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OeglolsA2elXdadE £X2Y 300,000 270,000 30,000
2 150,000
s 150,000
307 gl2tol & 300,000 270,000 30,000
= 150,000
s 150,000
05 BIZHRI & 3 300,000 270,000 30,000
OCEoISA2XNALEH 29 RAE
300,000,000 300,000
2 150,000
s 150,000
AL SAE tE B2 4,400 0 4,400
2 2,200
s 2,200
202 04 Hl 400 0 400
= 200
[ia 200
01 = LH 4 Hi 400 0 400
OHZIIsAS etdael &3 0dHl 400,000 400
= 200
e 200
301 et a = 4,000 0 4,000
2 2,000
s 2,000
MIIEEES 4,000 0 4,000
OALIISAE omB2 HME
4,000,000& 4,000
= 2,000
e 2,000
HE2HZH (240 42,154 40,664 1,490
Jl2Zd(sZ M) 42,154 40,664 1,490
JlE&l 42,154 40,664 1,490
201 ¢er24| 31,834 28,664 3,170
01 At 22l 28,870 25,620 3,250
O e8| 7,900,000& 7,900
O= &l 12,090, 000& 12,090
O=SAD Xtz 160,000& = 104 = 12& 1,920
O&=J Xz 50,000& = 104 » 123 600
OHEEHH 225 2| 6,360
-2 ZEHII 3,000
- EY 300,000 = 1CH * 45 = 23| 2,400
cd 300,000 = 1CH = 23] 600
- Bt elE 0| 200,000& = 60 = 23| 2,400
-SAIN(EULEE) 200,000& * 104 * 33 600
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—-FAX 120,000& = 1CH = 33l 360
02 2324l 2,964 3,044 A 80
OdHFEH KA =Hl 2,964
-Gt s AR 121 1,300,000 = 32CH * 5% 2,080
=== 4,000,000& = 700 = 2% 560
-= AtJ| 15,000,000& * 1CH * 2% 300
—-FAX 600,000& = 200 = 2% 24
202 04l 2,400 2,400 0
01 = LH YI 2,400 2,400 0
OetZAMY ARF=X 0l 2,400,000& 2,400
203 R =&t 4,320 4,200 120
04 FN2ELRZ=TH| 4,320 4,200 120
FN2SHSFAHI 4,320
=309 Olat 350,000& = 12& 4,200
-30¥ =1t 5,000& * 29 » 12& 120
405 THobH S 3,600 5,400 A 1,800
01 et EFFHSHI 3,600 5,400 A 1,800
OARE X 724 250,000& = 404 1,000
OCIIsSARI1I] A +¢
1,300,000& = 2CH 2,600
HRas(s2eldn) 433,000 435,800 A 2,800
LHEHHXIS(2HZ A0t 433,000 434,600 21,600
ZAMYIIHEE FUXNRAIIS HES 110,000 90,000 20,000
702 JIS2¥ES 110,000 90,000 20,000
01 JI3d&E=3 110,000 90,000 20,000
OUEE FXJII3 d&E3
1,100,000,000& * 10% 110,000
THINLEELIHNEES 323,000 344,600 A 21,600
701 JIEtSI HEETES 323,000 344,600 A 21,600
01 JIEtSIHE &= 323,000 344,600 A 21,600
OF=ZMLEEIH HES 323,000,000 323,000
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